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Algebra 2

Chapter 7 Review

Sketeh the graph of each function. Then state the domain and range and the horizontal asymptote.
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Write down the formulas you will need to know.
- iy o
2) a) Exponential Growth and Decay: /4 (t ) = C ( Ty )

b) Compound Interest (not continuous): /- LL 3 = F) (_ | + ’:% 3

¢) Continuous Compound Interest: /\ (t\ = ID C/r 1

Solve

3) You invest $3000 into a bank account that earns 2% interest compounded monthly.
A) How much is in the account after 18 months? (\ 3
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B) How much will you earn in interest in 12 years? JZ AL
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C) After how many years will you double your money? Round to the nearest hundredth. —
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4) Your bank account earns 4% interest compounded continuously.

a) If you invest $2000, what will be your balance after 4 years?
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b) If you want to have $5000 in the account in 10 years, how much would you have to invest today?
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5) A car depreciates 12% each year. If you purchase a car for $21,500, how much will
it be worth after 3 years?
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6) You purchase an antique vase worth $100. It's value is expected to increase at 2% each year.

A) After how many years will the vase double in value?
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B) What will your vase%e worth after 30 months'? z ’_31’2&6(%‘._)
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Rewrite each equatlon in logarithmic form.
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Rewrite each equation in exponential form.
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What is the y-intercept and the horizontal asymptote of the following functions?
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Fvaluate each to the nearest thousandth.
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Evaluate each expression.
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Condense each expression to a single logarithm.

17) log, x +log, y+4log, z
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Expand each logarithm.
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Solve each equation.
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Solve each equation. Round your answers to the nearest ten-thousandth.
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Solve each equation.
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